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Function02 Answers for No.10044
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Ans3
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(.1 =[y=23000+60x]]
d=[y=7x+130]

Ans4 = = 4=[Loss :760] , Ans7=[.2=[81]]
2 { 36250 5 [288]

L.6=[y=23000—-80x]]

X [Page = 0001] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXXXKXKXXKKXKXKXKXKKK XK KXKXKKK XK KKXXX KKK KKXKK KKK KX KXKK KKK KKK X XKL KXKKK KKK KXKXKK KKK KKXK

3x
y="_+ 8200

D 2=[y=140x]
} Ans5:[.1_[y_1450x+29000]}’ Ans6
100
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Function02 Answers for No.10127
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Ans?2

Ans3
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[.1=[y=20000+60x]]

A=[y=3x+140]
Ans4 = B = 4 =[Loss : 380] , Ans7=[.2=[50]]
.2=32660 5=[223]

|6 =[y=20000-90 x1]
X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXXXKXKXXKKXKXKXKXKKK XK EXKXKKK XK KKXXX KK KXKKXKK KKK KX XKK KKK KKK X KKK KXKKK KKK KXXKK KKK KKXK

. Ansj_[.zz[y:1380x+23000]} st 2= y=150x]
2= y=""18900 |[ - ’
50
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Function02 Answers for No.10305
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Ans?2

Ans3
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[ 1=[y=21000+50x] |
A=[y=3x+140] 2=[y=160x]
1 =[y=1360x + 17000
,Ans5=[ Ly X ]}, Ans6=| .4=[Profit: 1660] |, Ans7=[.2=[81]]

2=25160
5=[191]
|.6=[y=21000— 110 x]
X [Page = 0003] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXXXKKXXKXXKXKXKXKKX XX EXKXKKK KKK KKK KKK KKXKK KKK K XKK KKK KKKX KKK KXKKK KKK KXKXKK KKK KKXK

= X
Ansd .2=[y:—+ 10400
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Function02 Answers for No.10491

Ansl > gray

green
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NOT on the line
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Ans?2

Ans3

oQwroQwW -

[ 1=[y=22000+30x] |

A=[y=6x+170] 2=[y=130x]
Ansd = x , Ans5=['1_[y_2750x+25000]}, Ans6=|  .4=[Loss:200] | Ans7=[.2=[48]]
2=|y="2+10400 2= 44250
25 5=1220]

.6 =[y=22000- 100 x1]
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Function02 Answers for No.10782
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Ans3
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1 =[y=19000+40x] |
I=[y=5x+160]
Ans4 = = .4 =[Profit : 600] , Ans7=[.2=[41]]
2=261
6100 5=[190]
L.6=[y=19000— 100 x]_
X [Page = 0005] XXXXXXXXXXXXXXXXXXXKXKXXXXKXKXXKXXXKXKXXKXXKXKXKXKKK KX EXKXKKK XK KKXKX KK KXKXKXKK KKK KX KKK KKK KXKXKX KKK KXKKK KKK KXKXKKKKXKXKKXK

x Ans5_[-1:[y:1620x+18000]} . 2=[y=140x]
25
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Function02 Answers for No.11040
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Ans?2

Ans3
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[ 1=[y=17000+40x] |
A=[y=Tx+170] 2=[y=150x]
1 =[y =840 x + 14000
Ans4d = , Ans5:|: [y X ]:|, Ans6 = .4:[LOSS N 830] 5 AI’ZS7:[2:[85]]
.2=18200
5=[155]
.6 =[y=17000—110 x]_
X [Page = 0006] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXXXKKXXKXXKXKXKXKKK XX EXKXKKK KKK KKK KK KXKKXKK XKLL KXKK KKK KKK X KKK KXKKK KKK KXKXKK KKK KKXX

X
.2:[y=E+8000
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Function02 Answers for No.11048
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Ans?2

Ans3
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[ 1=[y=17000+30x] |

I=[y=7x+190]

Ans4 = B = 4 =[Loss :200] , Ans7=[.2=[57]]
.2=31960 5 [142]

L.6=[y=17000—120 x]]

b QR Te [CHE NNV IO A D 9:9:9:9:9.:9.:9.9.:9:9.:9.:9:0.9.9.:9:0.0.9.0.0.0.9:9.0.9.0.0.9:9.:0.0.9.9.9.0:9:0.9.9.0.0.0.9:0.0.9.0.0.0.9.:0.0.9.0.9.0:9:0.9.9.9.0.9:9:0.0.9.0.9.:0:0:0.9.9.0.9:0:9:0.0.0.0.0.0:0.0.0.0.0.0.9:0.0:9.0:0.0¢

;. Ans5_[.1:[y:187Ox+17000]} st 2= y=150x]
2=|y=""19600 || - :
50
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Function02 Answers for No.11107
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Ans?2

Ans3
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1 =[y=23000+30x] |
A=[y=3x+140] 2=[y=160x]
1 =[y=1650x + 15000
Ansd = ,Ans5=[ Ly X ]}, Ans6=| 4=[Loss:1030] |, Ans7=[.2=[51]]
2= 24900
S5=[177]
|.6=[y=23000 - 130 x].
X [Page = 0008] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXKXKXXXKXKXXKXXKXKXKXKKKXKXKXKXKKK XK KXKXKX KKK KKXKK KKK KX KKK KKK KXKXKX KKK KXKKK KKK KXKXKK KKK KKXX

3x
.2:{y:5—0+9700
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Function02 Answers for No.11419
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Ans?2

Ans3
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[ 1=[y=17000+70x] |
A=[y=4x+130] 2=[y=170x]
Ansd = , Ans5=['1_[y_1820x+26000]}, Ans6=| .4 =[Equilibrium] |, Ans7=[.2=[42]]

L.6=[y=17000 - 100 x1]
X [Page = 0009] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXKKXXXKXKXXKXXKXKXKXKKKXKXEXKXKKK XK KKXKX KK KXKKXKK KKK KX XKK KKK KXKXKX KKK KKKK KKK KXKXKKKKXKKKKXX

3x
y=""+8900
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Function02 Answers for No.11424

Ansl > black
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Ans?2

Ans3

oQwroQwW -

[.1=[y=22000+60x]]
d=[y=7x+180]
Ans4 = = 4 =[Loss :230] , Ans7=[.2=[63]]
2=4
7000 5=[315]
.6 =[y=22000—70x]]
X [Page = 0010] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXXXKXKXXKXXKXKXKXKKK XX EXKXKKK XK KKXXX KK KXKKXKK KKK KX KKK KKK KXKXKX KKK KXKKK KKK KXKXKK KKK KKXX

. Am_[.]:[y:2000x+250001} st 2=y=130x]
2=|y="—+6900 |[ - ’
25
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Function02 Answers for No.11470
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Ans?2

Ans3

oQwroQwW -

[ 1=[y=21000+40x] |
A=[y=5x+130] 2=[y=160x]
1 =[y=2900 x + 29000
Ans4d = , Ans5:|: [y X ]:|, Ans6 = .4:[LOSS N 1680] 5 AI’ZS7:[2:[73]]
2= .2=58000
5=[175]
.6 =[y=21000—120 x]_
X [Page = 0011] XXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXKXXXKKXXKXXKXKXKXKKKXKXEXKXKKK XK KKXKX KK KXKKXKK KKK KX KXKK KKK KKK X KKK KKKK KKK KXKXKK KKK KKXX

3x
y="_+ 8400
100
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Function02 Answers for No.11472
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Ans?2

Ans3
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.1 =[y=20000+40x] |
I=[y=6x+130]
Ans4 = = 4 =[Profit: 640] |, Ans7=[.2=[78]]
2=4
3770 5=[167]
L.6=[y=20000—120 x]]
bR Te ISRV (N DZN D 9:9:9:9:9.:9.:9.9.:9:9:9.:9:0.9.0.9.:0.0.9.0.0.0:9:9.0.9.0.0.0:9:0.0.9.0.9.0.9:0.9.9.0.9.0.9:0.0.9.0.0.:0.9.0.0.9.0.9.0:9:0.9.9.0.0.9:9:0.0.9.0.9.:0:0.0.9.9.0.9:0:9:0.9.0.0.0.0:0.0.0.0.0.0.9:0.0:9.0.0.0¢

X A =[y=2530x+ 23000 ] 2=[y=160x]
_ _3 , AnsS = . Ans
2=|y= + 8100 Ans6
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Function02 Answers for No.11523
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(.1 =[y=21000+70x]]

A=[y=6x+170]
Ansd=| | B = 4=[Loss : 100] , Ans7=[.2=[48]]
.2—{ .2=138010 5=[420]

|.6=[y=21000-50x]]
X [Page = 0013] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXXXKXKXXKKXKXKXKXKKK XK KXKXKKK XK KXKXKX KKK KKXKK KKK KX KKK KKK KKK X KKK KXKXKK KKK KXKXKK KKK KKXK

Tx
y=""_+ 8400

D 2=[y=120x]
} Ansjz[.l—[y—189Ox+21000]}’ Ans6
100
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Function02 Answers for No.11549

Ansl > green
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Ans3
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[ 1=[y=22000+30x] |
d=[y=T7x+140]
Ans4 = = .4 =[Profit : 650] , Ans7=[.2=[61]]
2=322
32200 5=[147]
L.6=[y=22000—150 x]_
X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXXXKXKXXKKXKXKXKXKKK XX EXKXKKK XK KKXKX KKK KKXKK KKK KX KKK KKK KKK X KKK KXKKK KKK KXKXKKKKXKKKXX

. Ans5_[.]:[y:1150x+23000]} st 2=1y=180x]
2=|y="—+8900 || - :
20
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Function02 Answers for No.11925
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Ans?2

Ans3
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[.1=[y=22000+40x]]

A=[y=5x+170] 2=[y=120x]

Ansd = , Ansjz[_J_[y_2520x+280001} Ans6=| 4=[Profit:400] |, Ans7=[.2=[60]]
.2 =48160 5=[275]

|.6=[y=22000-80 x]]
X [Page = 0015] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXKXKXXXKXKXXKXXKXKXKXKKK XK KXKXKKK XK KKXXX KKK KKXKK KKK KX XKK KKK KKK X KKK KKKK KKK KXKXKKKKXKKKKXX

X
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Function02 Answers for No.11935
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Ans?2

Ans3
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[.1=[y=22000+40x]]
A=[y=5x+150] 2=[y=120x]
1 =[y=2090 x + 19000
Ans4d = , Ansj:[ [y X ]:|, Ans6 = .4:[LOSS N 1120] , Ans7=[2=[74]]
.2=41990 5=[275]

|.6=[y=22000-80x]]
X [Page = 0016] XXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXKXXXKXKXXKXKKXKXKXKKK XK EXKXKKK KKK KKK KKK KKXKK KKK KX KXKK KKK KXKXKX KKK KXKKK KKK KXXKKKKXKXKKKXX

3x
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Function02 Answers for No.12183
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Ans?2

Ans3
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[ 1=[y=21000+40x] |

d=[y=4x+140]

Ans4 = = 4 =[Profit : 100] , Ans7=[.2=[43]]
{ 39200 5=[210]

.6 =[y=21000—-100 x]_

b QR Te [CHE NNV ON VA D 9:9:9:9:9.:9.:9.9.:9:9.0.:9.0.9.9.9:0.0.9.0.0.0.9:9.0.9.0.0.9:9:0.0.9.9.9.0.9:0.9.9.0.0.0.9:0.9.9.0.0.0:9.0.0.9.0.9.0:9:0.9.9.9.0.9:9:0.0.9.0.9.:0:0:0.9.0.0.9:0:0:0.0.0.0.0.0:0.0.0.0.0.0.0:0.0:9.0:0.0¢

Tx
y="_+ 10600

D 2=[y=140x]
} Ansjz[.l—[y—1400x+28000]}’ Ans6
100
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Function02 Answers for No.12246

Ansl > green

gray

black

yellow

red

blue

ON the line

ON the line

NOT on the line

ON the line

NOT on the line

ON the line

ON the line

ON the line

oY U W N

VVVVVVVYVYVVYVYVYV

Ans?2

Ans3
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(.1 =[y=17000+30x]]
A=[y=Tx+180] 2=[y=120x]

Ansd = : Anxsz[J"Ly‘14oox'*28000fL Ans6=| 4=[Loss:170] |, Ans7=[.2=[82]]
2= 2 =36400 5- 11891

|.6=[y=17000-90 x1]
X [Page = 0018] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXXXKXKXXKXXKXKXKXKKX XX KXKXKKK XK KKXXX KKK KKXKK KKK KX KXKK KKK KKK X KKK KXKKK KKK KXKXKKKKXKKKKXK

3 8100
=——+
Y= 100
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Function02 Answers for No.12332
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Ans?2

Ans3
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[ 1=[y=21000+50x] |

2=[y=170x]

}, Ans6 = .4 =[Profit : 960] , Ans7=[.2=[83]]
5=[175]

L.6=[y=21000—120 x].

X [Page = 0019] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXXXKXKXXKXXKXKXKXKKXXKXKXKXKKK XK KKXKX KKK KKXKK KKK KX KXKK KKK KKK X KKK KKXKK KKK KXKXKKKKXKXKKXX

d=[y=3x+150]

Ans4 =

1 =[y=1260x+21000]
} > Ans3 _[ 2=33600

X
.2:{y=5+9800
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Function02 Answers for No.12682
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Ans?2

Ans3
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[.1=[y=20000+50x]]
d=[y=3x+150]
Ans4 = =| .4=[Profit: 6401 | Ans7=[.2=[42]]
2=4564
5640 5=[250]
L.6 =[y=20000— 80 x]]
X [Page = 0020] XXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXXKXKXXKKXKXKXKXKKK XK EXKXKKK KKK KKK KK KXKKXKK KKK KX KXKK KKK KKXKX KKK KXKXKK KKK KXKXKKKKXKKKKXX

N Ans5_[.1:[y:2520x+28000]} st 2=1y=130x]
2=|y=-——149000 || - ’
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Function02 Answers for No.13022
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Ans?2

Ans3
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[.1=[y=23000+50x]]
d=[y=3x+150]
Ans4 = =| .4=[Profit:200] | Ans7=[.2=[55]]
2=354
35400 5=[288]
.6 =[y=23000—80x]]
X [Page = 0021] XXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXXXKXKXXKXXKXKXKXKKK XK EXKXKKK XK KKXXX KKK KXKXKK KKK KX KXKK KKK KKK K KKK KXKKK KKK KXKXKK KKK KKXK

N Am_[.]:[y:1400x+20000]} st 2=y=130x]
2=y=——+7700 || a ’
20
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Function02 Answers for No.13650
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[ .1=[y=20000+40x] |

A=[y=4x+190] 2=[y=150x]
.1=[yzl740x+29000]}
= x = = = N = =
Ans4 '2:[y:20+10400}, Ans3 [ 46400 . Ansé6 4 [51?(;]?;.2]790] . Ans7=[.2=[601]

|.6=[y=20000-110x]]
X [Page = 0022] XXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXKXXXKKXXKKKKXKXKXKKK XK EXKXKKK KKK KKK KK KXKKXKK KKK K KKK KKK KKK X KKK KKKK KKK KXKXKK KKK KKXK
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[ 1=[y=17000+50x] |
2=[y=150x]

}, Ans6=| .4=[Profit: 4001 |, Ans7=[.2=[67]]
5=[170]
L.6=[y=17000— 100 x]
X [Page = 0023] XXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXKXXXKXKXXKXKKXKXKXKKK XK EXKXKKK XK KKXXX KK KXKKXKK KKK KX KKK KKK KKK X KKK KXKXKK KKK KXKXKK KKK KKXX

A=[y=5x+150]

Ans4 =

[ =[y=1170x+ 13000]
} > Ans3 _[ 2=23530

X
.2:{)/:54-7400
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Ans?2
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[ 1=[y=23000+40x] |
A=[y=5x+130] 2=[y=160x]
1 =[y=2430x + 27000
Ans4d = , Ans5:|: [y X ]:|, Ans6 = .4:[LOSS N 1400] 5 AI’ZS7:[2:[55]]
2= .2 = 46440
5=1192]
.6 =[y=23000—120 x]_
X [Page = 0024] XXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXKXXXKXKXXKKXKXKXKXKKK XK EXKXKKK KKK KKK KK KXKKXKK KKK KX XKK KKK KXKXKX XKL KKKK KKK KXKXKKKKXKXKKKXK

3 L 8300
=——+
Y= 100
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[ 1=[y=23000+30x] |
A=[y=5x+170]
Ans4 = = .4 =[Profit : 320] , Ans7=[.2=[64]]
2=5771
57710 5=[210]
L.6=[y=23000—110 x].
X [Page = 0025] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXKXKXXXKKXXKXXKXKXKXKKK XK EXKXKKK XK KKXKX KK KXKKXKK XKLL KKK KKK KKK X XKL KXKKK KKK KXKXKKKKXKXKKXX

3x y 5_[-1=[y=2610x+29000]} et 2=[y=140x]
2:|:yzm+ 10200:| 9 nso = : s
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Function02 Answers for No.13962
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(.1 =[y=19000+ 60 x]]
d=[y=5x+180]
Ans4 = = 4 =[Loss : 440] , Ans7=[.2=[57]]
2 { 600 5=[238]
L.6=[y=19000—80 x]
X [Page = 0026] XXXXXXXXXXXXXXXXXXXXXXXXXKXKXKXKXXXKXKXXKXKKXKKXKKK XX EXKXKKK XK KKXXX KK KXKKXKK KKK KX KKK KKK KXKXKX KKK KXKXKK KKK KXKXKKKKXKKKXX

3x
y=""_+ 7400

D 2=[y=140x]
} Ansjz[.l—[y—1120x+16000]}’ Ans6
100
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Function02 Answers for No.14470
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(.1 =[y=20000+40x]]
A=[y=5x+170]
Ans4 = =| .4=[Profit: 1200] |, Ans7=[.2=[49]]
2=
35860 5= [250]
L.6=[y=20000—80x]]
X [Page = 0027] XXXXXXXXXXXXXXXXXXXXKXKXXXKXKXXKXXXKKXXKKXKXKXKXKKK XK EXKXKKK XK KKXKX KK KXKKXKK KKK KX XKK KKK KKK X KKK KXKKK KKK KXKXKK KKK KKKXK

N Ansj_[.]:[y:1980x+22000]} st 2=Ly=120x]
2=|y=——+10200 || - :
20
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(.1 =[y=23000+50x]]
d=[y=5x+130]
Ans4 = =| 4=[Loss:1020] | Ans7=[.2=[43]]
2= 2=414
2 { 00 5=[329]
L.6=[y=23000—70x]]
X [Page = 0028] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXXXKXKXXKKXKXKXKXKXKK XX KXKXKKK KKK KKK KKK KKXKK KKK KX KXKK KKK KKK X KKK KXKKK KKK KXKXKK KKK KKXX

3x
y="_+7500

D 2=[y=120x]
} Ans5:[.1_[y_2300x+23000]}’ Ans6
100
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[.1=[y=19000+70x]]

A=[y=4x+180] 2=[y=160x]

Ansd = , Ans5:[.1—[y—2430x+27000]} Ans6 = A4=[Profit:80] |, Ans7=[.2=[81]]
.2=53730 5=[212]

L.6=[y=19000-90 x1]
X [Page = 0029] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXXXKXKXXKKXKXKXKXKKK XX KXKXKKK XK KKXKX KK KXKKXKK KKK KX KXKK KKK KKK X XKL KXKXKK KKK KXKXKKKKXKXKKKXK

X
.2={y=5+7900
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[.1=[y=18000+40x]]

A=[y=5x+170]
Ans4 = B =| 4=[Profit:990] | Ans7=[.2=[51]]
.2=26600 5=[200]

|.6=[y=18000-90 x1]
X [Page = 0030] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXXXKXKXXKXXKXKXKXKKK XX EXKXKKK KKK KKK KKK KKXKK KKK KX KXKK KKK KKK X XKL KXKKK KKK KXKXKK KKK KKXK

1 =[y=1520x+19000] 2=[y=130x]
X 5 AI’lS5: , An56
2=|y="_+8100
25
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(.1 =[y=22000+50x]]
d=[y=5x+160]
Ans4 = =| 4=[Profit:320] |, Ans7=[.2=[50]]
2 { 3800 5=[245]
L.6=[y=22000—-90x]]
X [Page = 0031] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXXXKXKXXKKKXKXKXKXKKK XX EXKXKKK XK KKXKX KKK KKXKK KKK KX XKK KKK KKK X KKK KXKKK KKK KXKXKK KKK KKXK

D 2=[y=140x]
} Ans5:[.1_[y_1400x+14000]}’ Ans6

Tx
y="—"+7900
100
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(.1 =[y=23000+50x]]
d=[y=6x+150]
Ans4 = = 4=[Loss :40] , Ans7=[.2=[73]]
2= 2=342
2 { 34200 5=[329]
L.6=[y=23000—70x]]
X [Page = 0032] XXXXXXXXXXXXXXXXXXXXXXXXXKXKXXKXXXKXKXXKXXKXKXKXKKK XK EXKXKKK KKK KKK KKK KKXKK KK KK KKK KKK KKK X XKL KKXKK KKK KXKXKK KKK KKXK

Tx
y=""+9400

D 2=[y=120x]
} Ans5:[.1_[y_1900x+19000]}’ Ans6
100
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Ans3

oQwroQwW -

[ 1=[y=23000+40x] |
A=[y=3x+170] 2=[y=180x]
1 =[y =980 x+ 14000
Ansd = ,Ans5=[ Ly X ]}, Ans6=| 4=[Loss:1720] | Ans7=[.2=[49]]
2= .2=19880
5=[165]
|.6=[y=23000— 140 x]_
X [Page = 0033] XXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXKXXXKXKXXKKKKXKXKXKKK XK EXKXKKK XK KKXKX KK KXKKXKK KKK KX XKK KKK KKK X XKL KXKXKK KKK KXKXKK KKK KKXX

3x
y="_+ 8800
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[ 1=[y=23000+50x] |
A=[y=5x+140] 2=[y=160x]
1 =[y=2640 x + 24000
Ans4d = , Ans5:|: [y X ]:|, Ans6 = .4:[LOSS N 1440] 5 AI’ZS7:[2:[61]]
2= 2=47760
5=[210]
.6 =[y=23000—110x]_
X [Page = 0034] XXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXKXXXKKXXKXXKXKXKXKKK XX EXKXKKK KKK KKK KK KXKKXKK KKK KX KXKK KKK KXKKX KKK KXKKK KKK KXKXKKKKXKKKKXX

7 x
y="_+ 8800
100
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Ans?2
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(.1 =[y=17000+50x]]
d=[y=4x+180]

Ans4 = = 4=[Loss : 280] , Ans7=[.2=[75]]
2 { 7300 5 [213]

L.6=[y=17000—80 x]

X [Page = 0035] XXXXXXXXXXXXXXXXXXXXKXXXXXKXKXKXKXXXKXKXKKXXKXKXKXKKX XK KXKXKKK XK KKXKX KKK KKXKK KKK KX KKK KKK KXKXKX KKK KXKXKK KKK KXKXKK KKK KKXX

Tx
y="_+ 8000

D 2=[y=130x]
} Ans5:[.1_[y_1300x+13000]}’ Ans6
100
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[ 1=[y=17000+30x] |
2=[y=160x]

}, Ans6=| . 4=[Loss:1790] |, Ans7=[.2=[69]]

5=[131]

L.6=[y=17000 - 130 x1]
X [Page = 0036] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXXKXXXKXKXXKXXKXKXKXKKK XK KXKXKKK XK KKXKX KKK KKXKK KKK KX KKK KKK KKK X KKK KXKKK KKK KXKXKK KKK KKXX

J=[y=5x+160]

.1 =[y=1000x +20000]
} > Ans3 _[ 2=26000

= X
Ansd .2=[y:—+ 10400
20
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[ . 1=[y=23000+30x] |
A=[y=4x+150] 2=[y=170x]
1 =[y=3190 x + 29000
Ans4d = , Ans5:|: [y X ]:|, Ans6 = .4:[LOSS N 40] 5 AI’ZS7:[2:[72]]
2= .2 =54520
5=[165]
L.6 =[y=23000— 140 x]_
X [Page = 0037] XXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXKXXXKXKXXKKXKXKXKXKKX XK EXKXKKK XK KKXKX KKK KKXKK KKK KX XKK KKK KKK X KKK KXKKK KKK KXKXKK KKK KKXK

7 x
y=""_+9600
100
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Ans3

oQwroQwW -

[ . 1=[y=19000+50x] |

A=[y=5x+170] 2=[y=160x]

Ansd = , Ans5:[-1‘[y‘960“16000]}, Ans6=|  4=[Loss:190] |, Ans7=[.2=[68]]
.2 =25600 S=[173]

L.6=[y=19000- 110 x]]
X [Page = 0038] XXXXXXXXXXXXXXXXXXXXKXXXXKXKXKXKXXXKXKXXKXXKXKXKXKKKXKXEXKXKKK XK KKXKX KK KXKKXKK KKK KX KKK KKK KKK X XKL KXKXKK KKK KXKXKKKKXKKKKXK

X
.2:[y=5+8100
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